



ARIZONA DEPARTMENT OF TRANSPORTATION  
PROJECT DELIVERY AND OPERATIONS DIVISION  
CONTRACTS AND SPECIFICATIONS SECTION

## TABULATION OF BIDS

### CONTRACT # 2025057

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
999 SW LHV T043401C	LHV-0-(214)T	103808	STATEWIDE	NORTHWEST		0	Jalal Kamal

Highway Termini	Location	Work Description
• LAKE HAVASU CITY	• Swanson Ave Ints RRFB HVC	• System Enhancement (Safety Improvements)

## BID RESULTS FOR 2025057

Bid Opening Date : 1/30/2026, Prequalification Required, Engineer Specialist : Jalal Kamal

**Completion Date:**

30 Working Days

The proposed project is located in Mohave County on Swanson Avenue at the intersections of Mariposa Drive and West Wings Loop. The work consists of restriping the crosswalks, installation of signs, and other related work.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$50,003.00	DEPARTMENT ESTIMATE	\$50,003.00
1	-3.5%		\$48,275.00	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$48,275.00
2	+55.5%		\$77,777.00	HAWK CONTRACTING LLC 1022 E. LOYOLA DRIVE TEMPE, AZ 85282-	\$77,777.00

**Winning Bidder is 3.5% Under Department Estimate (Difference = (\$1,728.00))**

\*\*\* Bid Tabs for Proposal Pamphlet 2025057 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6070054	L.FT.	SIGN POST (PERFORATED) (2 S)				
Bid Rank		Department Estimate	11.000	\$60.000	\$660.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$25.000	\$275.00	-58.3%
2		HAWK CONTRACTING LLC		\$10.000	\$110.00	-83.3%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank		Department Estimate	1.000	\$3,000.000	\$3,000.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$450.000	\$450.00	-85.0%
2		HAWK CONTRACTING LLC		\$500.000	\$500.00	-83.3%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank		Department Estimate	2.000	\$80.000	\$160.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$38.000	\$76.00	-52.5%
2		HAWK CONTRACTING LLC		\$40.000	\$80.00	-50.0%
7015052	L.FT.	OBLITERATE PAVEMENT MARKING (STRIPE)				
Bid Rank		Department Estimate	459.000	\$10.000	\$4,590.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$6.000	\$2,754.00	-40.0%
2		HAWK CONTRACTING LLC		\$1.500	\$688.50	-85.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank		Department Estimate	47.000	\$10.000	\$470.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$1.000	\$47.00	-90.0%
2		HAWK CONTRACTING LLC		\$0.650	\$30.55	-93.5%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank		Department Estimate	6.000	\$25.000	\$150.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$2.200	\$13.20	-91.2%
2		HAWK CONTRACTING LLC		\$1.750	\$10.50	-93.0%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank		Department Estimate	11.000	\$10.000	\$110.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$1.650	\$18.15	-83.5%
2		HAWK CONTRACTING LLC		\$1.300	\$14.30	-87.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank		Department Estimate	11.000	\$15.000	\$165.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$2.200	\$24.20	-85.3%
2		HAWK CONTRACTING LLC		\$2.000	\$22.00	-86.7%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank		Department Estimate	2.000	\$3,000.000	\$6,000.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$382.000	\$764.00	-87.3%
2		HAWK CONTRACTING LLC		\$250.000	\$500.00	-91.7%

\*\*\* Bid Tabs for Proposal Pamphlet 2025057 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank		Department Estimate	26.000	\$10.000	\$260.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$1.100	\$28.60	-89.0%
2		HAWK CONTRACTING LLC		\$1.500	\$39.00	-85.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank		Department Estimate	6.000	\$15.000	\$90.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$1.100	\$6.60	-92.7%
2		HAWK CONTRACTING LLC		\$1.500	\$9.00	-90.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank		Department Estimate	2.000	\$1,500.000	\$3,000.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$70.000	\$140.00	-95.3%
2		HAWK CONTRACTING LLC		\$115.000	\$230.00	-92.3%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank		Department Estimate	32.000	\$150.000	\$4,800.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$67.000	\$2,144.00	-55.3%
2		HAWK CONTRACTING LLC		\$75.000	\$2,400.00	-50.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank		Department Estimate	1,673.000	\$3.000	\$5,019.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$1.000	\$1,673.00	-66.7%
2		HAWK CONTRACTING LLC		\$1.500	\$2,509.50	-50.0%
7080401	L.FT.	WATERBORNE-TYPE II PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank		Department Estimate	1,673.000	\$3.000	\$5,019.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$1.250	\$2,091.25	-58.3%
2		HAWK CONTRACTING LLC		\$1.500	\$2,509.50	-50.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank		Department Estimate	1.000	\$5,000.000	\$5,000.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$30,725.000	\$30,725.00	+514.5%
2		HAWK CONTRACTING LLC		\$57,599.150	\$57,599.15	+1052.0%
9240111	L.FT.	MISCELLANEOUS WORK (REPAINT CURB)				
Bid Rank		Department Estimate	35.000	\$226.000	\$7,910.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$7.000	\$245.00	-96.9%
2		HAWK CONTRACTING LLC		\$15.000	\$525.00	-93.4%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank		Department Estimate	1.000	\$3,600.000	\$3,600.00	
1		COMBS CONSTRUCTION COMPANY, INC.		\$6,800.000	\$6,800.00	+88.9%
2		HAWK CONTRACTING LLC		\$10,000.000	\$10,000.00	+177.8%